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Note :

PUBLIC ADMINISTRATION
PAPER - III

This paper contains seventy five (75) objective type questions of two (2) marks each. All
questions are compulsory.

Which one of the following statements of Felix A. Nigro about def1n1t10n of ‘Public

Administration is not correct ?
4
(1) Public Administration is a cooperative group effort in a public setting. {

(2)
(3) Public Administration is different in significant ways from Private Administration.
(4)

[

Public Administration accomplishes politically determined objectives.

Public Administration covers all the three branches - executlve, leglslatlye and judicial

and their inter relationships. y { :
3 {
2.  Consider the following concerns of 3rd Minnyﬁrook conference :
(a) nature of Public Administration in the changed enyironment.
(b) the complexities of market-oriented New Pubfllc Management.
(c)  the impact of inter disciplinary borrowing on t ethodological core of the discipline.
(d) the growing importance of networked governance.., £
Select the correct answer by using the éodes given befow :
(1) (a), (b) and (0 at 0 @oad
()  (a) () and (d) __1 I @ (@ () (9)and(d)

3.  The ‘New Public Services”is in line with more humanistic tradition of public administration
theory particular phenomenology, critical theory and most modernisation, who of the
following made this statemient ?

(1) Rosemary!|O’ Leary (2) Osborne and Gaebler

(3) -+ Denhard# (4) Lane, Jan-Erik

f i !

4. ' Consider the foll<gwirlfg components of New Public Management :

(@)  high qualit}ll services that citizens value

(b) = increased autonomy for managers

(c) fairly rigorous performance measurement of individuals and organizations

(d), minimize the market-orientation

Select the correct answer by using codes given below :

(1) <’> and (b) (2) (a), (b) and (0

(3)  (b), (¢) and (d) 4) (@) (b), (c) and (d)
| : —
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¥
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5.  Which one of the following is not in encompass of the scaler principle ?
(1) Leadership (2) Coordination
(3) Delegation (4) Functional definition
6.  Which of the following is not a merits of unity of command ?
(1) Better relations between superior and sub-ordinates
(2) Reduction of duplication of work
(3) Speedy decision making {
(4) Flexibility of action rd
f r
7. Which of the following statements about local government reforms in U:K. and France is not
correct ? {
(1) In England, the traditional government by committee system has been replaced by a
system resembling the position of a local Prime, Minister. (
(2) The quasi-parliamentarian council plus cotincil elected Mayor form was invented in
France by the Municipal Legislation of 1890 !
(3) Significant organisational changes were t'!rlggered in England by compulsory competitive
tendering.
(4) Great number of small municipalities have rer‘n?ﬁed ‘administrative wasteland’.
8.  Which of the following is not a func’q'plc of co—ordma?ion ?
(1) Encouraging team spirit {
(2) Making optimum utlllZ%thl’l of resources
(3) Leading to higher eff1c1ency
(4) Worker satisfaction
9.  Consider the followiﬂlg Che*racteristics of auxiliary agencies :
(a) Auxiliary agencies provide common house-keeping services to the line unit
(b) Auxiliary d‘Ilagencies exercise full authority for making decisions
; () Auxiliary a}.genlcies have operational responsibilities
(d) Auxiliary agendies basically perform services common to departments
Select the correct?answer by using the codes given below :
(1) (a) and (b) (2)  (a) (b) and (c)
(3)" (@) (o) and (d) 4) (@), (b), (c) and (d)
10. W;‘liclh one of the following factors according to Fesler does not govern the decision of central
authority to make its field agencies centralized or decentralized ?
(1) Financial Factor (2) Administrative Factor
(3) External Factor (4) Functional Factor
g || ; Fapeca
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11.

12.

13.

14.

Consider the following criticisms about Elton Mayo’s Theory of Human Relations :
(a) It is called cow-psychology.
(b) It failed to define ethical pre-suppositions of scientific work.

(c) It encouraged a paternalistic domination of private life and thought of individuals by
their employees.

(d) It recognised the role of unions in a free society.

Select the correct answer by using the codes given below : o

(1) (a) and (b) (2)  (a), (b) and (c) L
(3) (@) (¢) and (d) (4)  (b), (¢) and (d) f F

Which of the following statements is correct about the concept of ratlonahty of Herbert
Simon ? {

s L |i

(1) Rationality is unidimensional. >

(2) Total rationality is necessary for decisionl making. |
(3) Every decision maker has full knowledge about alternatives.
4)

4) Rationality is limited by skills, values, [purpose ;d knowledge.

Which of the following approaches are. suggested by(MCGregor to enhance employee’s job
motivation ?

(a) Participative decision mﬁl%lgi (b)  Challenging jobs

(c) Better salary and emoluments (d) Good group relations
Select the correct answer by using the codes given below :

(1) (@ () and (@) ¢  ~ (2) () (c) and (d)

@) @ bade | (4) (a), (b) and (d)

"
Which of the following new needs are added by A.H. Maslow in his original hierarchy of

" needs ?

(@) The simulafion needs

(b)  The integration and wholeness needs
(c) Empathy and appreciation needs

(d}( The meta needs or B-values

SeleE_';c the correct answer by using the codes given below :

(1) (@ and (b) (2) (@), (b) and (d)
(3) (@), (¢)and (d 4) (@), (b), (c) and (d)
HIH\IIHIIH\I“|||HHHHH\II\IHIIHII\HIIHI\ ;
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12.

13.

14.
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15. Which of the following statements are true about the Two Factor Theory of Herzberg ?
(a) Challenging work and recognition are motivators
(b)  Job security is a Hygiene factor
(c) Absence of achievement need does not appear to lead dissatisfaction

(d) Satisfaction and dissatisfaction are independent phenomena

Select the correct answer by using the codes given below : /
(1) (a) and (b) (2) () and (d) f e

(3) (@), (b) and () (4) (@) (b), (c) and (d)

r #

[

16. Immaturity - Maturity Continuum concept is g}}ae'n l;y xjyhich of the “ollowing scholar ?

(I) Rensis Likert (2) Chris Argyris Ilr'(3) Tom f{arris (4) Kurt Levin
¥ | I
| .'l

17. Match List-I with List-II. Select the correct answer fgm the codes given below :

F
-

List-I % List-II f
(Needs) . J‘r (Thinkers)
Y4
(a) Relatedness Needs (i) Abraham Maslow

(b)  Self-Actualization Needs  (ii) Herzberg

()  Achievement N‘eeds ( (iii) McGregor
(d) Power Needs (iv) McClelland
o

(v) Alderfer
rr o
" Codes : f

e

(2)
@) @ @ (v) (i)

@ O @ ™
paass

1l :
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18. Match List-I with List-II. Select the correct answer from the codes given below :

List-1
(Concepts)

(a) Group dynamics in the functioning
of organization

(b) T-Group or Sensitivity Training
(c) Science Based Management

(d) Knowledge Workers

Codes :

(@ (b) (o) (d)
@ Gv) @) (i)
2 @) @) @O ()
®) (@) @ @) O
@) (@(v) (@) (D) (i)

19. Match List-I with List-II. Select the correct answer

List-I

(Name of Officers
given by Kautilya) 4 J:

[

¥

List-II
(Thinkers)

Rensis Likert

Elton Mayo
Chris Argyris

Peter Drucker

(a) Antarvamsika Ly (1) Magistrate

(b) Prasastr " (i) Collector General

() Samaharatra - - (iii) Chief of King’'s Guard
(d) Nayak { (iv) Town Guard

Codes :

@- 0*© (@

f) i) @) "Ei) \ (@)
@ (@ G [ v
@) (v) @) () ()
@) () Gv) la) (i)

\

‘jijm the codes given below :
List-1l v ©
L
“(Name in English)

20. An gpproach in which generalization, law, hypotheses assert regularities of behaviour, and
correlation with variable is called by F.W. Riggs as :

(1) Ecological (2) Non-ecological

g |

—
(=]

Ideographic

Nomothetic

Paper-III
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21.

22,

23.

Consider the following provisions of the Constitution Reform Act, 2005 of United Kingdom :
(a) It made provision for modifying the office of Lord Chancellor.
(b) It established Supreme Court of U.K.

(c) It abolished the appellate jurisdiction of the House of Lords.
(d) It created the post of Secretary of State for Justice.

Select the correct answer by using the codes given below :

(1) (a), (b) and (0 (2) (@), () and (d)

(3) (b), (c) and (d) (4) (), (b), (0) and (d) : {

Match List-I with List-II. Select the correct answer from the codes given below :

List-I List-II "
(Act) (Cgunt-r};);' ;
(a) Freedom of Press Act i) JIndia |
(b) i |

¥

iif) U.S.A‘j
iv) Swede

-

(
Freedom of Information Act (ii) / Canada |
(c) Right to Information Act (ii
(

(d) Access to Information Act

F
Fd

Codes : A f
@ 6O @ <«f |

M o @ o6 @ N

@ i) @ 6 @)

G) G @) < i

@ G G 6 L)

Which of the f6llowing are the qualifications required to contest the post of President of

/ America ? F
;ge r

(a) 35 years of

(b) 14 years as'resident of U.S.

(c)” Natural born citizen or a citizen of United States
(d)l A senator/for two terms

Select the correct answer by using the codes given below :

(1) (@), (b) and (c) (2)  (b), (c) and (d)
(3) (@), (b), (c) and (d) 4)  (a), (c) and (d)
g | 2
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(3) () (b) (o) ¥R () 4) (), (0 ¥ (d)
yaans [ RIEARAT N 13
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24.

25.

26.

The Individual Ministerial Responsibility (IMR) in British Government means :

(a)  Accepting responsibility for the actions of their departments.

(b) Behaving appropriately in their personal life.

(c)  Adhering to ministerial code.

(d) Being competent

Select the correct answer by using the codes given below :

(1) (a) and (b) () (a) and (o [

(3) (@) (b and (9 (4) (@) (b) (o) and (d) /

[

Consider the following statements and select the correct answer by using the codes given

below :

(a) American President can veto a bill sent to him by Congre-?s.

L

r

(b) If the congress passes the same bill again, the bill is passed Hespite the veto of the

President.

-

(¢)  The Supreme Court has the power to deF‘lare an Act (passed by congress) as ultra vires.

(d) The judges are nominated by the President b

L\ithey can put a check on him.

Codes : fd
(1) (a) and (b) (2) ) C)
(3) (@), (c) and (d) % k(4) ) .(C and (d)
</
Match List-I with List-IL Select the correct answer from the codes given below :
List-I - List-II
(Books) (Editors)

(a) Development Aidministration in Asia (i)

(b) Approaches to Develiopment Politics  (ii)
Administration and Change

(c) Tempofaﬁ‘Dimension in Development  (iii)

Administration
(d) The Fronti:Fs of Development

Montgomery and Stiffin
Dwight Waldo

Fred W. Riggs

(iv) Edward W. Weidner
Administration
Codes :
@ ®) '@ @
W @) @0 G
@ @) @) () (i)
3) <i'i> (i) (ﬁi) (iv)
4) d (iii) (if)
H||“||\|||H\|“||||||H\||\|H! |H|\ 14
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24. fofes TR # A=ufwca Soerfae § sAfed Sifac (3. TH.3R.) 1 31 §
(a) A faum =t FrER & fau STef S |
(b) 319+ AferTa St H 3ferd =e@R |
(c) WHIRESH @R % TIET HITR |
(d) H&H 1 @A
T fe3 F § 9 F& S H =7 FiteQ |
(1) (@) ¥R (b) @ (@R (© /
() (@), (b) ¥ () @ @), () (© @) ; &
25. fefafed st w foem ®IfST qon i U TC %2 =t Ferd § FESW H1 w37 Hi
(a) ST TR FHE g EE U 4N FRet fadee 1 e a) g 31
(b)  afz i Tl e 1 T R R 34§ GG o1 S e 2 e & e fasr
IR B S ©
(c) I ﬁlqqu%lAHmWﬁ?ﬂﬁﬁﬁwaﬁﬁwwﬁﬁﬁmm%‘l
(d) Tgafa =menfe 5t ffe w3 € Wwﬁﬂ‘s}mﬁawmm%l
< :
(1) (a) 3 (b) O @OERE
(6) (@) () I (d) ,.,,M [ & @ )0 a@
26. I - 1 G - II%magﬁfaﬁaﬁm| T fed T F2 FT TN H WE ST AT I RIS
et -1 T - 11
(gem) (TS )
(a) TIATH= @ﬁ?ﬁ@m T Tfern () H=IEG Tve Wi
(b) = THRESEEIun= ; Uifdfes, tefaftesm (i) feffae awe
| (c) <HRA o & eI TeffTesE (iii) e Ty, fow
d) T FHIH dﬂTIUh STATH= TSHMEIA (iv) TSaE T, dBER
2 : |
L @ (b)) (d)
My Gv) (@) () ()
2) =) @ @) (i)
€)) (11) (@) (D) (i)
(4) (iii) (iv) (i)
s |H||H|H||\||H||H||||\|H|\||\||H|H|H|| I i
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27. Match List-I with List-II. Select the correct answer from the codes given below :

List-1

(Characteristics of development
administration)

(a) It maximises development objectives
(b) It is grounded in normative concepts

(c) It is concerned with socio-economic
and political change

(d) It implements programmes designed
to bring about modernity

Codes :
(@ (b)) (9 (d)

1 @ @) (@v) (i)

2 @@ @) @ (i)

®) i) (@v) @O @)

4) (v) (D) @O 3

List-11
(Scholars)

(i) V.A. Pai Panandikar
(i) Harry J. Friedman
G.E. Caiden

Ty

Edward Weidner { .

-

28. Match List-I with List-IL. Select the%eorrect answer ffom the codes given below :

List-I < ;.'
(Approaches) Yo
(a) Empirical approach " (i)

i,

(b)  Political-Econotny affproach (ii)

(c) Ecologiﬂcai}; approach (iii)
/ (d) Learning I;foce"p:s approach (iv)
Codes : :
S @ (b)) [(@ (@)
@ 6 G G
(2) ¥ @ @v) @) (i)
G (@) @v) @ )
4 Gv) @) @ )
a1 1

List-1I
(Characteristics)

Relating administration with social, economic
and political-cultural structures of the country

Process of adapting to changing environment
and incorporating mid course corrections

Analysing administrative structures and their
functions in different systems

Related political and economic dimensions of
decision making and resource allocation

Paper-III
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27. O - 1l G - 11 % 912 gafad s | A= el 7T el 1 T8 § 9@ ST 1 997 S |

el - 1 T - 11

( fowa yomem @t fagraaTd ) (fagr)
(a) % fo Wl &l SHAGH HW dF d@leal g1 (1) LT qE TAFRRT
(b) T SCUTHSE TATRON W AN T | (i) TS wieEE
(c) 9% WSR-S qe sritaen qfed (iii) S.E FHeA

q grafed g ; .'f; ‘
(d) I8 SYFTHAT T & HIAHHI T FRIA (iv) TEIE TRST p

HATE |
%< :

(@ () (9 (d (
M @ (@) (Gv) (i) ’
2 @ @) @ (i) Jffﬂ’ _
@) @) @Gv) @ (i) / \ J
4)  (v) (@) (@ (i) ]

/

28. T - I I FeIt - Ilésmagﬁﬁﬁaﬁﬁ&m ﬁﬁﬁqw?‘(“ﬁmﬁﬂﬁwaﬂwaﬁml
A -1 <, { T - 11
(ST ) 1 g ( fagroard )
(a) STIVEST 3UNTH (i) < F WIS, el T TSI sk -HIR R
. G & 1Y YU Rl GG R |
(b) nﬁﬁm—ﬁﬁmm (i) TS TR % STIRA ' a1 Uik & o= H
| YT e F AT Giha |
()  fferfaer] Heet samTH (iti) ot gonferai # gemEtTeR SEATS T 3T el
_ p 1 fergetomn |
( (d) ey ‘;l'ﬁfﬁ ST (iv) Hag MoE o1 S9eE ofded o TsHias aen
' EREREIRI
E .I
L@ (b)) He) (d)
Wy @ () (@Gv) ()
(2) » @ @) @ ()
©) (111) (iv) (@) (i)
) Gy @) @)
s |H||||\IH|\||\||“|“|H||\||\|||\|H||! 1 —
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29.

30.

31.

Match List-I with List-II. Select the correct answer from the codes given below :

List-I List-II
(Approaches) (Basic Objectives)
(a) Area Development Approach (i) Comprises human growth and well
being, equality etc.
(b) Target-Group Approach (i) Main principle is economic growth with
social justice
() Minimum Needs Programme (iii) Alleviation of rural poverty”
Approach 1
(d) People Centred Approach (iv) Social development and investn}e;nt in
human beings f p
Codes :
@@ (b)) (o (d) y
M O @ @ @) < ,
@ () @) @) 0 i VO g
@) ) @ @) 0 f,f .
4) (@v) @) @) @) / .'

Which of the following is not correct regarding the ob ctlves of Administrative Development ?

(1) To bring desired change in the administrative f‘t

(2) To bring desired change in the administrative p ocedures

(3) To ensure work culture in pub]g‘c orgamzatlons

(4) To make Administration fql;:e f{om the env1ronmental impacts

4
Match List-I with List-II. Sel&cﬂ the correct answer from the codes given below :
List-1 List-II

(Quotations concerning cabinet) (Statements by)

(@) ‘The cabinet is the key-stone (i) L.S. Amery
of the political arch’ {

(b) ‘Cabinet is the pivot around which (i) Ramsay Muir
the whele political machinery revolves’

(¢) ‘Cabinet is the steering wheel of the (iii) Lowell

ship of the rtate

(d) ‘Cabinet is the central directing (iv) Sir John Marriot
instrument jof government’

, (v) Gladstone
Codes : |
L @ (b)) () (d)

(1) @) @) @Gv) (V)
(2) = @) @) @@ @0
(3) (ii) (i) (iif)  (iv)
4) (@{dv) (@Gi) (1) ()
paass [N II\HIHII\ s Papec1

www.examrace.com



29. e - [l et - 11 & 91 gafad i) = 8 7T %2l 1 Femd § 92 W &1 =997 Fia |

30.

31.

et - 1
(T )

(a) &g fowe 3amm

(b) TALI-THE SUFTH

~AdH HIdRHehd] HTIHH SUTTH

(©)
(d) < *fsd 3a™
&R

a) (b) () (d)
1) (i) (i) @{v)
i) (i) () ()
i) (i) () ()
iv) () (@) (@)

— — N

1
2
3
4

N N SN /N

TR Feee § s qied o |
(2) TemEE gihAeT | arsa aiedd am |

3) Fﬁ%mﬁmwmm|
(4) Wﬁqﬁﬁwﬁﬁﬂqwﬁhﬁgwm|

1)

AV
|'III’ !
S e SRl % an § Frefatad & w0 e

T - 11

(g 39T)
e faehTd Ta sedmn, gamEar snfe anfas
g
WIS =@ % Wy aﬁﬁzﬁﬁwq P ERC]
fagma g1
e e 61 39e
wﬁmﬁwmwﬁmﬁ%ﬁm

-

ﬂz‘r‘%?
/

J
F
Fd
-

TR - 17 T - uaswger%a*ﬁm| F b T F T @ TG IR T F

T -1
(af=rHUSe & ARy | HeT)

‘rfmuee Tk TEt gl ¢ forss = i

T qg Faar €1

‘Hf=mred BICEIR I TCIGED

e g’

‘af=mued THR &1 Faa foun v
. afwm%’ll’

(@ () (9
O (iif) (i)
S (v) @3 @)
(11) (i) (i) Ev)

(iv) (i) @) i

(d)
(iv) (v

~—

=

p—
O

o \f‘*
‘gfzmued TeHfas “-Ifl“l EARSIPIRENY %l’

et - 11
(fwgeRT FuT)

() TATEH T
(i) TR
(i) <o

W o1 #fe
T
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32. Special Frontier Force (SFF) functions under the control of which of the following
organizations ?
(1) Ministry of Home Affairs (2) Sashastra Seema Bal (SSB)
(3) Research and Analysis Wing (RAW) (4) Indo-Tibetan Border Police (ITBP)
33.  Which of the following para-military force is not under the Ministry of Home Affairs ?
(1) Indian Coast Guards (2) Indo-Tibetan Border Police
(3) Central Industrial Security Force (4) Border Security Force F
4
34. Under which Article of the Constitution, Taxes on income other than the agriculturé igéome
shall be levied and collected by the Government of India and distributed between theunion
and the states ?
(1) 270 2) 271 (3) 272 - (4) 273
§
35. Chronologically arrange the following instituti;:}of C(;rﬂpmittees on Police Reforms :
(a) Soli Sorabjee Committee / ]
(b) Ribeiro Committee / , /
(c) Malimath Committee f f
(d) Padmanabhaih Committee \ [j
Select the correct answer by using the codes given below : ¢
1) @), (), () (d) V(@ ) (d)fo) (a)
(3) @, (d) (0 (b) </ 4 (d), (o) (b) (@)
; )
36. What is not correct regardi_rlg fhe control exercised by the Department of Personnel and
Training on bodies given below :
(1) Central Administrative Tribunal (2) Union Public Service Commission
(3) Public Sector EI}teerr{ises Board (4) Staff Selection Commission
37. Who is the Chairman of the Special Investigation Team (SIT) on Black Money constituted by
the Supreme Céurt ?
/(1) Justice Kuldip Singh (2)  Justice R.N. Lodha
(3)  Justice M.II;FShé{h (4) Justice AK. Ganguly
38. Which of the following is not correct regarding the Departmentally Related Standing
Committees in India ?
(1) The total number of these standing committees is 24.
(2)Ik o BEach committee comprises of 31 members.
) = The members of these committees are selected by proportional representation from
among the M.P.s
A minister can be the member of these committees.
H||H||\|||H\|H||||||HH\|HHIH\IH ll 2 papeca
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32.

33.

34.

35.

36.

37.

38.

TYE (faey) v o9d (T8.0%. 0%, ) frefaftead § 9 g g1ea & fa=m d & & €2
(1) & 7= (2) S HH 9 (TH.OE L)
(3) eATHY™ Td fagetwor fow () (4) vRa-faesaa € gfere (e el )

freAfafed § @ aR-91 88 F 9o T8 TAerg & AL TE 8 2
(1) YN a2 & (2) ARd-fossa € qfaw
(3) H=Ia SRR T aA (4) G e T

L
IRdTT Hfagm & fod oTgess & oT=iid &y o 9 el o W & 9Ra le{ohu Ry sq\u;?q T
Gyl fohan qen W wd T % ot foafid foran sman @2 _
(1) 270 @) 271 (3) 272 (@) 273
AN b
mgmwﬁqﬁﬁﬁaﬁﬁwﬁf@awmﬁmm@mwu
(a) el GRSt gfafq (b) ‘ﬁaﬁaﬁ?ﬁr
(c) HfceHY HiHfd (d) mﬁm{pﬁﬁ
= fe3 T F H | & S H =T FiC
1) @, ®), (@) (d) L@ ) @)
3) @, (d) (@) (b) "h ;; 4 (@) (.« ) (a)

wﬁm&ﬁimwﬁrmm@mﬁaﬁﬁaﬁm%aﬁﬁmﬁﬁwwqﬁ%?
(1) = GREiTe_ A (2) EE Wi Her ST
(3) % &9 3T e ‘{ (4) HHEAN = M

1 S AT BRI F 8 T nfad fo ST <o (TH.2TE.E1.) 1 7e98] i & ?

;@ = foz (2) =P TR, @
(3) =P T ' (4) =P T, T

IRa ¥ favmia (Flﬂ'q) Tl wfafae & wrery § freafafed § @ sF-o 98 7@ €2
(1) Tt wfafae &1 Fot Hem 24 T

(2) ¥ yA% |fafd o 31 9 B ¥

(3) it % v % e wae aeE ¥ 9 AT Jfatfee g/ fohan S 1
(4) R st 7= 37 et w1 9ee @ g 7

rans [{FHATR RN 2
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39.

40.

41.

42.

43.

44.

The powers and functions of the Chief Secretary of a state is prescribed under which of the
following ?

(1)  Article 241 of the constitution of India
(2)  Article 214 of the constitution of India
(3) Article 314 of the constitution of India
(4) Rules of Business of a state

Which Pay Commission recommended to change the category of public services indndia into
Groups (A, B, C, D) ? {

(1) First Pay Commission (2) Third Pay Commission -.r‘;
(3) Fourth Pay Commission (4) Fifth Pay Commission f .
Which of the following is not On-the-Job Training method ? d

(1) Job Rotation (2) Mentoring - - r

(38)  Vestibule Training (4) Apprenticeship {

Which of the following is the correct meanlngféﬂ P051t1ve Recruitment” ?
(1) Recruitment through interview only . |'
(2) Recruitment for welfare administration /

(3) Takes definite steps to attract the best qualifie% apd most competent candidates

(4) Special recruitment for SC’s and ST’s 4'}1 F

The system of Zero-Based Budgeting was first 1n{roduced in which of the following
departments ? £

(1) Department of Economic Affairs

(2) Department of Science anél Technology

(3) Department of Agriculture
(4)

4) Department of:Planning
il -
Match List-I with List-II. Select the correct answer from the codes given below :

List-I List-II
(Institution) (Constitutional Provision)
(@) The Comptroller and Auditor General (i) 148
(b) The Union >ublic Service Commission (i) 280
() The Election Commission (i) 315
(d) “The Finance Commission (iv) 324
. (v) 344

L@ () (@
M w@ @ 3 ()
() @) 3D @) @)
(3) (iV) (iii) (v) (i)
(4)

(i) (iv) (i)
[

N
N
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39. fHE T % g Afba %1 vfadal @ & fefafad § 9 79w & swaia fafea €2
(1) YRd % dfaum & =g 241 (2) YRG % Gfau™ & T s 214
(3) 9Rd & WfaYH & =% 314 (4) T o gfshan fowares fram
40. 9RA ¥ g a7 A0 A Ak Harsdl i ST R SRl (T, 6, W, €)) F 9€er wt e i ?
(1) 99 Iad SN (2) U SdT A
(3) =ten A ST (4) =T AT AR
41. fr=fafea & @ a9 w fafy wefra gfteo fafy 9@ €2 f fr
(1) =@ HAEGT  (2)  TES oA (3) Ywrs yfwew (4 T
42, frefafed § & wehrres ol 1 W& o wE-wm e | _
(1) o TR g o P, B 5
(2) HEAIRN JRIEA & faw wdf / i
(3) TR s A TE T T SR A SR e fer Fifve wew e £
(4) Igfea sfa SR STIgfea S % faw faom 1‘?!:/
43. Wwaﬁawwvﬁwﬁw@ﬁ@fﬂrﬁrmﬁs\w’aﬁn% off ?
(1)  emfefes el & fasm ( (2) T T e s
3) iy faum \ ? € @) e fam
44. G - 1 G - 11 ¥ GAfAq w0 gC A< ST T Fe § § G@H ST 1 =97 Hi
a1 T - 11
(weam) | (HIetTR T )
(a) TI=reR ud wererEn wlieh (i) 148
(b) THER o e (i) 280
{0 —m ij (i) 315
(d) foa M | (iv) 324
- (v) 344
Q'\Td'.: |
L@ (b)) (d)
MO @) 3 (v)
(2) =G ) Gv) ()
3) (Gv) (@) (v) (i)
4 @ (@) (@v) (i)
s | QULATHRINANN 2 Papern
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45.

46.

47.

48.

Capital Division of Consolidated Fund of India comprises of :

(a) Receipts Heads

(b) Expenditure Heads

(c) Public debt

(d) Public Accounts

Codes i

(1) (a), () and () () (@), (b), (©) and (d) i

(3) (@), (b) and (d) (4) (a)and (d) J f
The key advantage of structural observation vis-a-vis survey r-erearch is that :

) |

2

( It does not rely on the researcher’s ability ¥ (
-
(

The researcher is immersed as a participant in the field he is studying

—~

)
)

3) It allows the researcher to observe people beh'aviog'r directly
)

(4) It does not impose any expectations of behavi Jrfk.)n the respondents

r
F

F
Fd
-

“Science is life; not life for science.” " Fhe statement elclphasmes the significance of :

(1) Pure research X ; (2) Applied research

Y
(3) Action research - (4) Both Pure and Applied research

i,

The method, which infolves a systematic and comprehensive study of a particular community,
organisation, group etc. With a view to undertake the analysis of a social problem and
presentation of recommendations for its solution, is known as :

(1) Historicaf'method (2) Case study method

4 -~

i (3) Survey metf‘od"-r (4) Statistical method

49. Sampling framelis :
(1) An outline view of all the main cluster of units in a sample
(2) "y A summary of various stages involved in designing a survey
(3) " Allist of all the units in the population from which a sample will be selected
(4) A wooden frame used to display tables of random numbers
g || 2 Fapert
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45.

46.

47.

48.

49.

rans [{FHATR RN

a1 gAfeRa e & ot gum & Frefafed mira €

(a) It wftd (b) =3 ¥

(c) T R (d) <k o

E T

(1) (@), (b) 3R (o) 2 (@), (), () W (d)
(3) (a) (b) ¥R (d) 4) (a) ¥R (d)

A3 T oI H TEACHSE TTAHA HT TE ATH HIA-91 T 2

(1) ¥ Sirerehd! &1 draa W 8 T2 ) -

@) v sy s 3 4 e 2 fr g
(3) % YMYHkdl sl AfIeT F RN I Hiel Eﬂﬂf’lqw w H W Bl ¢
(4)

7 gfafran <7 arell W fhdl TR &1 aﬂ‘f&ﬂ °¢I<4'é|{ Cﬂ'luwd & Farl

" e Stred & T 7; Sfrae fogm & fag & " |$W%ﬁ@%@%ﬂﬁﬂ%éﬁ%7
(1) s e “ o) o s
(3) wHE FIHENE W (4) fogs 9o STYg STHYH

Tt fafy, St frel SHgM, HiTed, 99g S & Aated a0 fowga stera qgfa aifer foadt amtsen
Wwﬁsﬁwﬁmwﬁamﬁ?ﬁmwﬁmwaﬁmﬁ@ﬁmﬁ@mwﬁw
ST ?

(1) Qﬁaﬁwngﬁr (2) Hg-31eE ugfa

/() weam t@ﬁf (4) wifert vgid

freta (Fmafe ) 2

(1) - iest ¥ wfnferd @t sHEEl F TG TR B A ST |

(2;‘  Hel&TUT hi EORE § HieHferd fefre =Rl w1 Wi

3) - Gy, foed gfaeel =afa fen S ©, 1 9t sehreal &1 g=h

(4) gz Femsl i IRl &l SUH o fTT ST § o 71 kel 1 g |

N
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50. Which of the following components of district and sub-district level administration in India
as identified in 15th Report of 2nd Administrative Reforms Commission are true ?
(a) Regulatory Administration
(b) District and sub-district level officers of the departments under state government
() Rural and Urban Local Bodies
(d) Public works department
Select the correct answer by using the codes given below : :
(1) (a) and (b) 2) (a) and (0) %
(3)  (a), (b) and () 4) (@) (b), (c) and (d) J
lp' [

51. Which of the following recommendations is not made by the Ministry of Panchayat1 Raj,
Government of India about the expert’s engagement in the Dlstrlct Planning Committee
(DPC) ? {

(1) Experts could be taken on a part time basis, on a551gnment ba51sﬁor full time basis as per
the need.

(2) It is for the state to determine the nun]éer of experts that can be drawn to assist the
DPC ,-r _.'

(3)  Experts could be assigned to work either indi zl;blly or in teams.

(4) Experts may be generally drawn locally and nét from the jurisdiction outside of the
district. re-f

A f

52.  Which one of the following T8 E£t related to the jurisdiction of the State Finance
Commission ? Vi
(1) Determination of taxes, duties and tolls which may be assigned to Panchayats
(2) Grand-in-Aid to Panchayats from consolidated fund of India
(3) Measures to improve financial position of Panchayats
(4) Distribution between state and the Panchayats the net proceeds of taxes, duties, tolls

and fees leviable by the state
|

53./ The Scheduled Céstas and Scheduled Tribes (Prevention of Atrocities) Act, 1989 followed
from which of the following constitutional provisions ?

(a) Article 15(1)
(b) = Article 15(’12)
(C)'. Article 17
(d). Article 46
Select the correct answer by using codes given below :
r
1 (a) (b) and (c ( ) (2)  (b) and (c)
(3) ) and ( 4) (a), (b), (c) and (d)
II\HIIHI\ 2 —
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50. fgdta gemgfTen gor 1m&Em =1 15 o RO 9 <o § fSen qen 3u-f5e @ 3mes & 9 ofaddl &l
B I T B
(a) Taframe gemeE
(b) T TR o e faum & fSen e 3u-foen w1 & Aferd
(c) TTHToT qern wedl Tt frehr
(d) <R fafor fawm
frefafed fad ¢ %2 =t 9eEdl 9 57! 9= SIS | y
(1) (a) 3 (b) 2 (@) ¥R (o) f;
(3) (@), (b) 3 () 4)  (a), (b), () 3 (d) !

51. fr=fafaa § 9@ wA-9 fawifer g T« 951, WH{%I{WMW ﬂlwlrnl:rﬁqﬁr(@rﬁﬁr)ﬁ
Tl & T S & I § & ol Sdl & 2 y (

1) Wﬁmw@wwﬁaﬁmwwmawwﬁmﬁwmmm
feran < wehar 21

) %wm%%%ﬁwmuﬁﬁraﬁm %mr@aﬁmﬁmﬂsﬁﬁww
e &Y

3) Wﬁmw@awﬁﬁmw%mﬁﬁf&mmm%
4) oo T T q%?@%ﬁwaﬁ%w%én
-
m.ﬁ#@ﬁﬁﬁwﬁmmﬂﬁwﬁ%ﬁ%nW@WMﬁﬁ7
1) AR, ‘ﬂ?ﬁﬁwnﬁaﬁwﬁaﬁwm?ﬁﬁqdlqdlaﬁdﬂqmdmwmﬁl
(2) 9Rd w1 diad Ffy § el 6 g8 SeH
3) qawﬁﬁﬁ?ﬂa"ﬁaﬁﬁgwwéﬁW|
(4) T G STRITY 6T A1 3, Yoohl, AR 941 i § Tered il =1 T4 921 g=rwdi o
o foaom

53. WW@%W(WﬁWW) stfufrem 1989 , fa frefafea gt

gl 9 gafEd § ?

(a) 1= 15(1) (b) T2 15(2)
(c) oTT=T 17 (d) =T 46
Fr fe 2§ D TR B  FR
1) @, () 3R () (2)  (b) 3 (c)
(3) (a) ¥ (o) 4) (), (), (o) ¥R (d)
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54.

55.

56.

57,

The Eleventh Plan (2007 - 2012) put emphasis on which of the following ?
(a) Emphasis on social sector and delivery of service therein

(b) Reduction of Gender inequality

(c) Environmental sustainability

(d) Provision of clean drinking water for all by 2009

Select the correct answer by using codes given blow :

(1) (a) and (d) (2) (0 and (9 /
(3) (@) (b)and (©) 4) @ 0), (© and (d) : Y
Which of the following is not the objective of social welfare ? _ '

(1) Helping the poor and vulnerable {

. N L |i
(2)  Social problem mitigation : »
(3) Making people’s participation in gover:lrfance obligallrltory
(4) Development of the weaker sections | '\ __-II

Assertion (A) : The terms “social service’, “social work’ Land”social security” are directed
towards the welfare,of people. f
4

Reason (R) : It would be nogappropriate to designate social welfare as a major activity
for well being ,(1.) ditizens.

Codes : -

(1) Both (A) and (R) are true and (R) is correct explanation of (A)

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(3)  (A) is true, but (R) is false

(4) - (A) is false, but (R) is true

a

Which of the following statements is not correct regarding the National Commission for

Scheduled Tribes'?
(1) = It was established in 2004.
(2) The term of office of its Chairperson and Members is of 3 years and they can be
\ reappointed for another term.
(3) - The Chairperson has been given the rank of Union Cabinet Minister and members that
of a Secretary to Government of India.
(4) It comprises of one Chairperson and five Members.
| 2
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54. TAREE! AT (2007 - 2012) Frefafaa § @ fFg W e <t €72
(a) WIS &5 T SHeh! Harell W aA
(b) T srama | wH
(c) TATERUE HYRUfte
(d) =H 2009 T e & fAC =5 TI=IaA Fl HTed

= fed 2l W F WE T A I AN {
(1) (a) ¥R (d) @ (b) ¥ () 7
3) (a), (b) F () 4) (@), (b), () W (d) ;
55. frefafad § 9§ $H-91 T AE1F FHed10 FH 3239 a8 2 J
(1) "Ri9 Td HHSIRI h! HER | s { .;
(2) ETHITR TS 1 IEA HAT f" “1
(3) IMEA H SAHSHIRTT hl SRR S | _f |
(4) FHHSIR I A1 forenmd | f

| J/

56. 31U (A): ‘THS Far’ mw ﬁxmﬂqﬁ'@'gw éﬁm@ﬁﬁawﬁﬁr{
ffdw €1

ek (R) : wmw%ﬂw@%wﬁmm%wﬁﬁﬂﬁm
3fera &l B

e :

1

2

3

.'r 4

wﬁwﬁMWﬁmwmwmmﬁl
(A)aﬁT(R)aﬂ‘m%%% T (A) T (R) T&t TT=H0T 7 ¢ |
(A) TR YT (R) T B

(
(
(
(4) (A)Te g, (R) W&l 7

)
)
)
)

57. Tefafad § & ®F-91 %o UL Agfea S TR & o) H e T8 € ?
(1) SHeR! TG 2004 5. H i TE |

(2), AR TAVHIEN T FrEAFA 3 T H A1 € AR TR gEA Aty ok forw g Frfe Rt S
\'.W%|

(3) " diere 1 i HhE T 1 o Geei F1 9RA SR % W B S T
THYH T TEAE q1 Ui TS B R |

pras |H||H|H||\||H||H||||\IH|\||\IIHI“IHINIHII\IHII!

N
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58. Which of the following statements regarding the National Commission for Minorities is not
correct ?

(1) Tt came into existence as a statutory body on 5t July, 1993.

2) It comprises of one Chairman and three Members.

(2)
(3) It deals with the minority communities as notified by the Government of India as such.
(4)

4) The safeguard of constitutional and legal rights of minorities is its main objective.

¥
i

59. In 2013, a trade agreement at the 9™ Ministerial Meeting of WTO was held. ‘The agféement

was known as : { r
(1) Bali Package (2) Doha Development Agreement
(3) Uruguay Resolution (4) Hong Kong Declaration .

1 .
1 {
60. Which one of the following statements about tpé(import'énce of Civil Society is not correct ?

(1) The diversity of civil society will ensu,!{'lfe that the fjtate is not held captive by a few
groups. / I

¥

(2)  Civil society is a locus for recruiting new polit;a ieadership.

(3)  Civil society is concerned with deregulating the gov_erpmént activities so that it becomes

result oriented. 4 f
(4) Civil society resists authotgg'al;-iﬁnism.
Vi
61. Which of the following model of Policy Formulation discussed by Y. Dror is the most criticised
model ? .
(1) Incremental Chénge Model (2) Pure Rationality Model
(3)  Sequential Decision 1\{/Iodel (4) Satisfying Model
%

(a) Adequate understanding of societal values.

62.  Which of the folz-\wipg are the pre-requisites of Rational Policy Making ?

(b) “Availability of data and information regarding the alternative courses of action.
() Availability of funds.

(d)lk A definite decision-making system in the organization.

Seleet the correct answer by using the codes given below :

(1) (@), (b) and (c) (2)  (b), (c) and (d)
(3) (a), (b) and (d) 4) (a), () and (d)
g | 50
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58. ST FeuHEds @M & o H frefafed § @ -9 wed 98 T8 2 2
(1) 9% U& dfafys & & 9 7/ 5 S, 1993 Fi sifa # st
(2) TUH TF A T AF 9SS B
(3) I% TRER R ATYfed STeqsens THerl & AHe udl ¥
(4) IHEAH! ® WG Td wEA AMERI H1 AT SHH THE T T |
59. a¥ 2013 § RGO Teey 2. 37, &t Al WAt TRUSH 33 § Tk ATIR FIR fhan T PJTI.(E‘HW
&1 et 8 9 g T | S S 2 /
(1) et Y6 (2) <rel forhTd R
(3) &9 THE (4)  TRTRRAT Sireom .
60. TR TS &1 Hedl o o § fefafegd 9 | aﬁfm Th e 1@1%?‘!'@;%7
1) WW@WW%E&WW@ {lﬂ@«islgmwmsﬂﬁ ERISIGIES
(2) IR WA T TSHITH Aged T Il & TH
(3) NI THTS TRHRI HRHaTl ! Fa=ona F 2«#«%& & Tfer g qRomTH=gE o= 9 |
(4) TR TS TGS B AR L f
 {
61. aﬁwmﬁ%ﬁﬁﬂﬁrﬁ"@w%;ﬁwﬁ (mreati) ¥ 9§ fF=fafad § 9 fg gfaam &t 999 At
AT T8 © 7
1) dfegw ql{omviﬂ;rﬁlmj (2) fTours aifhear gfaam
(3) SITmH® fv éﬁmﬂ{ (4) wHfecEs gfaam
62. freifefas § & Witk A Frafo 1 4 snewawand w2
[ (a) s e Bt T T
(b) RfeTR T Haf-erd SRSl To YA HY YA
(©) ~ THfertl =1 Suersyan
d Wﬁﬁ%—ﬁﬂhﬂﬁﬁﬁﬂﬂwﬁ
fe3 2 4 9 W SR A=A RIS
1) @ O © 2 (), @7 ()
(B)  (a), (b) T2 (d) (4)  (a), (c) T (d)
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63. Consider the following statements of Harold Lasswell about his concept of policy sciences :
(a) Policy Science is a problem solving activity.
(b) Policy Science’s thrust shifts from mere academic concern to real world.
(c) Policy Scientists should build alternative paradigms.

(d) Policy Sciences have greater role in democracy.

Ty

Select the correct answer by using codes given below : 'f;
(1) (a) and (b) (2)  (a) (b) and (c) { f

(3) (b), (c) and (d) (4) (a), (b), (c) and (d) Y
& 7,
1 {
64. Which of the following is not a recommendatiéﬁ’ of thefDepartment of Economic Affairs of

Ministry of Finance regarding the divesture p{'ocedure ? |
| I
|

/
(1)  Department of Public Enterprises shall select thf‘j?blic Sector Enterprises to be divested.
r

(2)  The selected enterprises will be categorized as very good, good and average.

(3) A public enterprise with a net asset value per sﬂare of T 10 with a face value of I 100
shall be applied for putting,a public enterprise as very good.
. )

(4) The pricing formula ac_:l_o‘i:)fled for the referred price is to be the profit earning capacity
value method.

i,

-

65. Assertion (A) :| For the gommon man, bureaucracy denotes routine and repetitive
.| procedures, paper work and delay.
o
Reason (R) : _General education, political and social awakening, has led to a rise in the
expéctations of people from administration.

Codes :
(1) " Both (A) and (R) are true and (R) is correct explanation of (A)
(2)|'~ Both (A) and (R) are true, but (R) is not the correct explanation of (A)

(3) " (A) is true, but (R) is false

(4) (A)is false, but (R) is true

g |

W
N
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63.

64.

65.

rans [{FHATR RN

ifa fom =t Aauron & IR H TWee dad & FTefafEad oAl w fa=ar Fifew

(a) fa faam Tt Toen gEEER R 7

(b) i fomm =1 T Faa Hefirw TWHR ¥ Trafas fava w1 iR T

(c) +hifa SmfTent 1 denfeuss gfqam ffda w1 =ifew)

(d) ifa fomm =t wSi st offfe €

T foU T Fe FT TeId ¥ WEH IW H TIT RIS -.1"2~
(1) (a) 3R (b) 2 (@), (b) 3R (0

(3) (b, (0) ¥ (d) m>@@@ﬁ@

] L
|o||r1°|a|ulqvmé?quaﬁﬁmwﬁ?aﬂfwaﬁﬂﬁﬂmﬁﬁmﬁf@ﬁﬁ@ﬁﬁwﬁﬁﬁ%7
(1) =St SeH favm g fafrew fee s e F &5 % Sl 1 =g TR ST |
(2) FFTa el FI g T, awwﬁﬁw%wﬁéﬂ%mwl

3) agﬁmaﬁﬁ%‘rﬁiﬁﬁm%ﬂ%sﬁqﬁr@ﬁ%ﬁm‘ﬁoo%aﬁmt@%maﬂogﬁfw
aﬂﬁaatrﬁawﬁﬂpmﬁfm{

(4) W%W%mmﬁwwmﬁwwwnaﬁ?wwwﬁm|

SIURAT (A) : aﬁw@ﬁﬁq,ﬂwﬁﬁaﬂqﬁwwﬁwﬁ,wﬁaﬁﬁ
| faers &1 udte 71

e (R) : 4 gmr foren, THifae Td AT SRl 2 Y9TEE © & i STeRiensT] i

"F?ﬂj‘”ﬁ?ﬂ%l

(A)aﬁI(RjﬁW%aﬁ{(A)W(R)@w@wm%

(1)’

@) (A) R (R) 3 W E G () F (R) T LT 2
(
)

%°
1

3) 7 (A) TEI §, W (R) T R
4) (A)7d T, T (R) T B |

W
w
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66. Which one of the following statements about 14th Finance Commission’s recommendations

for Panchyat is not correct ?
(1)  An amount of ¥ 2,00,292 crore (approximated) is assigned as grant to Panchayats.
(2) The grant is in the form of basic grant and performance grant.
(3)  The ratio of basic and for performance grant to a Gram Panchayat is 80 : 20. ¢
-
f
(4) The performance grant will be effective from the year 2016 - 2017. r;
lp' [

67. Which of the following is not a part of the project assigned to Tata Institute of Social Sciences
on “The Rapid Assessment of the status of devolution of Powers and Resources across the
states/UTs” ? & | (

Y
(I) Assessment of the actual outcome of act} ity mapping
/ , /
(2) Indicative ranking on the status of devolution baseﬂ on the fulfillment of fundamental
constitutional requirements \ (l
(3) Implementation of major centrally sponsored schemes £
B (
(4) Seggregation of functions across various tiers of Panchayati Raj
; )
Vi

68. When did the Disaster Management Act and National Disaster Management Policy by
Government of Indie;i,came into existence respectively ?

(1) 2003 and 2005 (2) { 2005 and 2009 (3) 2007 and 2009 (4) 2010 and 2013
"4
rr - |
69." Which one of the follo'wing rural development schemes is not based on individual beneficiary
approach ?
(1) = Ganga Kailyan Yojna (GKY)
(2), Million Wells Scheme (MWS)
(3) ™ National Rural Livelihood Mission (NRLM)
(4) Supply of Improved Toolkits to Rural Artisans (SITRA)
g || ’ Fapert
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66.

67.

68.

69.|

rans [{FHATR RN

Tardl o fau Siegd fom e &t fawfen & o9y § fafafad § 9 :H-91 w9 98 78 ¢ 2

1) d9mdl Sl TIEE & ®9 H T 2,00,292 w4 (@) Fra fhe @ 2

2) STIEM Hot 3TSH de Foured 3T e % w9 H ¥

3) UMW YARIA &I S S el Ja STIRM qel FSIER $TRM 1 STda 80 : 20

1)
(2)
()
(4) IR 3TEH W 2016 - 2017 § ST R

L
I’ r
ﬁw%f@aﬁﬁﬁ‘—r—m“ﬂmﬁ/ﬁaw%ﬁ%wﬁaﬁama@ﬁ%waﬁfﬁaﬁ%aﬁa
L RIERN ﬁwmmwﬁmﬁaﬁwﬁmﬁawﬁ?ﬂwmmﬁ%?

L

FTRIHATT HHEAU & Srfaeh oAl sk I@‘iﬁr—!

2 W%qﬁmﬁmaﬁwﬁaﬁtﬁmaﬂaﬁﬁaﬁa@ﬁﬁuﬁmﬁ%ﬂmm|
(3) %= g WIS IHE SIS S HEi=a | ‘.f

(1)
)
3)
)

Ww%ﬁfw@ﬁ%aﬁﬁ@mqaﬁaﬁm
<,  {
Yo
TRA THR R SIS Yoo et iR Ui envel Yereq Hifd swawr: fe anf o sifcaa o
a2

(4

:‘
(1) 2003 #T-2005 (2) {72005 &R 2000 (3) 2007 3R 2009 (4) 2010 R 2013

‘4

f W@amwmﬁﬁ@ﬁ—ﬁﬁwwmwmﬁmmmmﬁ%?

(1) T e ?ﬁGFﬂ (St..am.)

)
(Z)t ﬁ'%lﬂ?ﬁ?ﬂ& ST (TH, S0, TH. )
3) ¥ et o SArSiiforeRt fAeE (TSR TA.TA.)

(
(4) TTHIOT HRR &1 3714 <A fohed &1 STYRd (TH.E.A.ART,)

W
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70. Match List - I with List - IL. Select the correct answer from the codes given below :

List - I List - II
(Rural Development Experiment) (Persons Associated)
(a) Gurgaon Experiment (i) Spencer Hatch
(b) Marthandam Programme (i) V.T. Krishnamachari
(c) Baroda Plan (i) Albert Mayer !
(d) Mahewa - Etawah Pilot Project (iv) F.L. Brayne f;
Codes : f o
@@ () (o (d)
1) @ i) G Gv) N
@ () O @) @ I G
@) (@) (v) @ @) £\ ¢
@ v 6 ) G / .'

f I
f i

71. Which one of the following is not basic focus or Mctive of National Rural Livelihood
Mission ? g

-

(I) Enhancing and expanding exisﬁng livelihood ol';tions of the poor

2)  Building skills for the job fﬁaré(gt outside

@ _
(3) Nurturing self—employ_e_CY and entrepreneurs
(4)

4) Developing capacities to deal with the changing local conditions

il -
72. Consider the following faéts regarding the Prime Minister Rural Development Fellowship
(PMRDF) :

(a) Implemerii’fed to encourage young professionals with leadership potential
' Al |
i (b) Intended tc:fedrxpate young professionals in development practices
(c) Designed to impart practical training to young professionals by working closely with

District Magistrate.

(d) Awarding/MSc/MPhil in Development Practices after completion of 2 years through

| e-enabled learning.
L]

Selegt the correct answer by using codes given below :

(1) (@) and (b) (2)  (a), (b) and (c)
(3) (a), (b) and (d) 4)  (a), (b), (c) and (d)
g | 5
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70. Gt -1 &I Gl - [1 & 1 Gafad sifee | = fd T fel w1 Te™ar 9 W& ST 1 =91 Hi |

et - 1 T - 11
(Tt faeRTd & wEnT) (Traif-era =afer )
(a) TSI ST () T
(b) wTefUSH Y () A FomEER
OIEE A (ili) T TR
(d) WHEAT-32ME e TS (iv) TH.TA. SRt "(1'
e .r

(@ () (9 (d
@ @ @) @G @G 4 (
2 G @@ 3§D () ’
®) @) (@Gv) () () Jffﬂ’ | I
@ ) O @) () |

71. I A0 STShifaent favm 1 frefafed § @ wE- ETE[{H%'Q,I 31 ed & § 7
(1) TEi % fommm sTsifas |q*¢q|‘qﬁ ST H?JT%I‘RGﬁ‘dWl
(2) WWW%ME&%Wl
3) wﬁwqﬁwﬁﬁﬁsﬁwém
) Seerd! T aRfeafadt 9 fge & faw awar w1 foem |

(4
72.  FEHH=T T faeE AT (W.UH. SR ELTE. ) A & 9R § fefafad ) em €
(a) T AT o e %) et w3 o feenee w5

[ ) fawm #’ﬁ'-gmwwﬁﬁﬁfsﬁmmﬁ%mﬁﬁ%ﬁﬂé%‘n

(c) FaT hetaey & |1 FiE ¥ wE A g A1 HAGHIA! i AR I YSH FH & fag
. sAfveRfead =t T 7

(d) g1 a8} %J—‘{:I'Er%f e oif & wv=q foe ggfadl § Ta.T9. . /TA.fRa. 98H & |
i feu i § | 9& S F =T Fifww |
1) (5) e (b) (2) (a), (b) T (c)

b) T ( 4) (@), (b), (c) T (d)
IH||||\IH|\||\||H|H|H||\||\|||\|H||!

J-1415
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73.

74.

75.

g |

Which of the following is not correct about Pradhan Mantri Gram Sadak Yojna ?
(1) It is 100 percent centrally sponsored scheme.
(2) Itis funded out of the revenue collected by imposing Cess on High Speed Diesel

(3) R 0.60 Per litre is charged from the sale of High Speed Diesel in the country for the
scheme

(4) The scheme is meant to provide a single road connectivity only.

Ty

Which of the following statements about Urbanization is not correct ? : r" )
(1) Urbanization is a structural process of change. f e

(2) Urbanization results due to the large scale and small scale industrialization and
commercialisation in cities. ¢

(3) It is the result of the concentration of cultural and recreational activities in cities.

(4) Urbanization has a marginal impact on thes behav1our pattern; of individual or social
organization.

,.l' |

Liberalisation in India is characterised by wfuch of Te followmg ?
(a) Liberalisation in exports and imports

(b)  Simplification of the procedures to attract foreign .ca.pit'é{i in India.

(c) Freedom of fixing prices of goohs‘\and services |

(d) Renewal of restrictions on expansion or centralisation of business activities.

Select the correct answer by_gsifllg the codes given below :

(1) (a), (b) and (c) (2)  (b), (c) and (d)
(3) (a), (b) and (d)‘{ ’ (4) (), (b), (c) and (d)
{
) -00o0-
|

W
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73. WHMHN UM WS s % forog § Frefated § @ SH-9 T 98 6 82
(1) =% I 9Re s 51 FaItS a1 g |
2) U foau 36 e SNa R IWH T | T 73 & qoea 9§ e vt &t St 2
(3) 39 e % forw <91 H 718 Tie Setat &t foshl W T 0.60 wfa ferex genfxa foam sman €1
)

(4) 39 AT H1 3L U ThHd T GSh ITed HIEMT ¢ |

74. VEAHO F IR § Frefafed § @ SE-91 HuF & 6§ ? { s
(1) Ve uREdd B e i B f f
) YRHHE 92 YR W R B T R TR H ienfreon o s it ufom €

)

(3) e TR H Hiheh I AARST Teleft hrefehedrdi b Fesiihon (et WFEMTH g

(4) mﬁwwwﬁﬂmwwﬁ%w'uﬁmﬁwmwm%l
f I

;|
75. 9Rd B SeRIH F1 fasiaar frefetaa § @ w1 e ?

(a) T iR frafa § IR \dj ;
a»wﬁﬁ%ﬁmﬁﬁﬁ@mmwwm@
(c) TGl IR FaneTi &1 g ﬁ%'iﬁ?fqv{% i A

(d) ST TR 3 FIRR o1 S T A A
3 fem T 2 1 T A T W I BT

1) () 0 (© - @ () () IR (d)
6 @oFw@ @ @ ) ©
‘4
‘f -00o0-
|
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